Name: _________________________________________________ Class: ___________ Date:__________ L
6th Grade Unit 5 Performance Task
Elena and Jorge have similar problems and find the same answer.  Each student determines that the solution to the problem is 24.
Elena: (14 + 42) ÷ 7 + 42					Jorge: 14 + (42 ÷ 7) + 42

Evaluate each expression to determine if each student is correct.
Show your work:
Elena:								Jorge:









				Answer:____________					Answer:___________

Circle one for each student:

Elena: 			CORRECT			 INCORRECT

Jorge: 			CORRECT			 INCORRECT

Explain in complete sentences how you arrived at your answer:

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

[bookmark: _GoBack]_____________________________________________________________________________________


